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MSCCH-07
December - Examination 2018
M.Sc. (Final) Chemistry Examination
Synthetic Organic Chemistry
Paper - MSCCH-07

Time : 3 Hours | [ Max. Marks :- 80

Note: The question paper is divided into three sections A, B and C. Write
answers as per the given instructions.

fAder: g v ux ‘37, ‘¥ IR ‘W 9 @wuel ¥ g g1 udw

Gug & MEATTAR Ul &b IR S|
Section - A 8§x2=16
(Very Short Answer Questions)
Note:  Answer all questions. As per the nature of the question delimit

your answer in one word, one sentence or maximum up to 30
words. Each question carries 2 marks.
ug - ‘31’
(fer o7y IR UL )
fAder: At gl & IR NI 31T 270 ITR BT HATAR Th TG,
TP I A1 Afdpas 30 el H uRRfifaa Hifwl e ued
2 3Pl & gl

I) (1) Why Organolithium compounds shows Polymerisation?

SRIAIfeTRT M agfereeur @t qarfd £
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(i) Why Grignard reagents reacts only with active hydrogen

containing compounds?

e 1e erfoptes daet fhanefial gEgiom Raw aret dlfter |
& fopar orar 87 TmsI=|

(ii1)) Complete following equation:

e ST iR @ gof Bl

CH,OH
(b) @f MnO,

(iv) What is the Principle for protection of Amines?

AT T RemeHe Rigra forRau|

(v) Give chemical reaction of reduction of Nitroso compounds.

TS AP & 31T BT ARG FHIHR0T forRau|

(vi) What is Epoxidation?

SUTRAGRROT T & ? AT

(vil) Which of the following compounds follow Huckel rule?
=T 3§ P g R Y aTerT v 22
(2) C10H10
(b) C12H12
(¢c) C H*

127712

(viii)Write structure of Tropolone and Tropone.

clalele T ¢ ! e s8]
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Section - B 4 X8=32
(Short Answer Questions)

Note:  Answer any four questions. Each answer should not exceed

200 words. Each question carries 8 marks.
gus -
(oTg TR U9A)

fAder: gl IR Ul & IR ST 3T 3 IR Dl 3ferhad

2)

3)

4)

S)

200 9rect o gRAfAT HIRTTI T U9 8 37l & gl

Write short note on:
=1 o ey fewoft feRay)
(a) Barton reaction

a1 3rfrfehar

(b) Hofmann - Loeffler - Freytag reaction

EHET — ATholR — Hhed 3frfshan

Discuss the Mechanism of Bauyer Villiger reaction.

SR faferr erfyfoham 6t foham fafer foran

Write down the Mechanism of Meerwain-Pondrof - Verley reduction

reaction.

TR - UlegIh — dReAT raae Srfrfopar &t fehar fafdr ferRaul

Give chemical reaction for reduction of Nitro compounds to azoxy,

Hydrazo and azo compounds.

1ger AT B Teadl, SRSNS! U ol Aifept | 3roade &l
aiffehar forReu|
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6) Explain Endo selectivity and Regio selectivity of Diels - Alder

reaction.
SleAtesy AAfhaT &1 TreMeiacaict ta RS/l Heracifact
NEEIRY
7) Complete the following reaction of Ferrocene and explain them.
HRIA &t e I sftifohar wwsmen
CH,+(CH,) NH @

a _CH,COCI/ AICI,
Fe Buli
[0} o ©
®)

8)  Write down the applications of organomagnesium compounds.

PIEAIRIT it hr Iufiar forkaul

9) Write short note on:
71 W Fféreg fewuft Hif|
(1) Reformatsky Reaction / RepRyTehT arfiyfera
(i1)) Simman Smith Reaction / Ryt fver arfrfepan|
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Section - C 2X16=32
(Long Answer Questions)

Note:  Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries 16
marks.

gus - 9
(e TR ¥ed)

fAder : gl @ U9l & SR SINITI 31T 399 IR Y 31frpad 500
grect o g Hif| U U9 16 3T & Bl

10) Explain the following:

=T T AR

(1) Organolithium compouds are called as Super Grignard reagents
Why?
Fafforfer e or guR feE sifiyade @ wgr ST
g° a1 ?

(i) Why Vinyl Halides not react in Ether to prepare Grignard
reagent?
It 2aTss ol IUINT A e s § 81 fopar
STl (R H1ey )

(i11) Effect of Steric hinderance on Grignard addition.
i arfirpHe & armeRe Sififhar W Bfar arem @
AT, TSV

(iv) Explain Deprotonation nature of Butyl lithium.

ICISAC ORI BT SRR qgR FHSIRY|
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11) Explain the following reactions.
o arffsharmatl ol FHeTs |
(1) Wacker process (El N ﬁ'@l’)

(i1) Etard Reaction (g‘c”r:«f rfrfepar )

(ii1) Prevost reagent (H“I qree 3 Cb‘-ICCP)

(iv) Use of M-CPBA in Oxidation
M - CPBA T 3TTdRAIAROT § IUGNT|

12) What happens when following acids reacts with CF,COOH?
7T 3l A CF,COOH 3AffehaT R IR T BIell & 2
(i) Propanoic acid / MUISH 3T

(i1)) Phenyl acetic acid / e THifesd 3t
(ii1) Benzoic acid / = gh 3+l

(iv) Cyclopentanone / HTgdelU~CIA

13) Explain Molecular orbital diagram of Ferrocene.
URRAIS T 3T1f0eh héfeh 3TNE AT

(1) Give two methods to synthesie Ferrocene.

RIS S bl g1 faferat ferRau)

(i) Give two Electrophilic substitution reaction of Ferrocene.

URRIF T QT geldeigl i Siffehar forau
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